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~I 

Attempt all questions. 

?TJil' ~;ff cf; ~ ~I 

1. (a) What do you mean by tax planning? What is the difference 
. ? 

between tax avoidance and tax evasion . 

Qi\ ~ q1 \J\ ;i "« ~ ~ 3T~ \Wt % ? Qi\ ~ 
(Avoidance) ~ Qi\ ~ (Evasion) -q' CftrT ~ 
%? 7 

P.T.0. 

(b) During the previous year 2016-17, Mr. Moon a citizen of 

India, is planning to visit Sri Lanka to live with his son. 

Prior to that, he has always been in India. During the entire 

previous year 2016-17, he earned the fol lowing income: 

Particulars Amount in Rs. 

Agricultural income in London 10,00,000 

Pension in India 20,000 per month 

Interest income from Gennan Bonds 2,00,000 

Suggest Mr. Moon. is there any tax advantage if he can 

plan his duration in Sri Lanka during the Assessment Year 

2017-18. 

~ ~ 2016-17 -q ftro lfl, vft fch 'llml CfiT •w1f{q; i, 
3TCA"~ "«wr ~ ~ ~ ~ \ifRT~W ~I~ 
~ 'qf{O -q tr "{ITT i 1 ~ ~ 2016-17 ~ ~ ~ 

~3{1(f~: 

~I~ ~ {~o ij} 

~ -q ~ 3Wf 10,00,000 

'ffmf -q ~R 20,000 ~ ~ 

~ ~ -« ~ i2fl\jf 2,00,000 

~ ~ fch f4o 1fl q;l- ~ ~ "{ifN i" ~ ~ 
~ <b'f m?IT f.)tjf{ui ~ 2017-18 ~ <fuR" Cb«1T 

i1 8 
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Or(~) 

(a) Xis a resident and ordinary resident in India. He gives the 

following information in respect of his income for the 

previous year 20 J 6- I 7: 

Particulars 

Capital gains on sale of a house situated 

in Pune (sale consideration is received 

in Nepal) 

Salary received in Sri Lanka for rendering 

services in Tamil Nadu 

Interest received from foreign government 

securities 

Amount in Rs. 

5,00,000 

6,00,000 

50,000 

For the last five financial years he has been staying in 

India only during the months of January, February and 

March. Suggest Mr. X about the taxability of his different 

mcomes. 

X 1fmr CfiT ~ i .3fR \Tmf' CfiT ij ltl I {Of ~ i- I 

Ptt1f<01 qlf 2017-18 ~ ~ 31'~ ~ qlf 2016-17 c6f 
f.ly~f{ga ~ ~ lft ~: 
ftft1~qj ~ (~o 'ij) 

~ ~ qcn lJCfiR c6T ~ « ~ \3Tm 

(~ .q ~ ~ fl«ifi) 5,00,000 

df?l(THI~ .q cfiT ~ ~ ~ ~ =r .-urn-
,,...,, VJl'-1 6,00,000 

~ft~ ~r<lijfa4f « ~ ~ 50,000 

3 P.T.O. 

~ 5 ~«~'ql«f ~~~~~~. ~ 

.3fR lITTf ~ I flro X ~ ~ ~ cfiT Cf>{~ltdl ~ fmr 
~~I 7 

(b) (i) Differentiate between Gross Total Income and Total 

Income. 

(ii) All taxpayers are assessees but all assessees need not 

be taxpayers. Explain. 

(i) ~ ~ \3Tm .3fR ~ ~ ~ 3RR ~I 

(ii) ~ (b{Gldl ~Qfftdt ·~ ~ ~ ~ ~ 

Pltiffi~l Cf>{Gldl ~ ~ i I quf;f ~I 8 

2. A Ltd has offered Mr. X a job in Delhi at a basic salary of Rs. 

17 ,000 per month and dearness allowance (which does not 

form a part ofretirement benefit salary) Rs. 15,000 per month 

and gave an option to Mr. X to choose any one of the following 

two packages:-

Package 1 

1. HRA Rs. 4500 p.m. (Rent to be paid Rs. 6,000 p.m.) 

2. Education allowance Rs. 300 p.m. (for one child) 

3. Telephone allowance Rs. 1000 p.m. 

4. Medical allowance Rs. 1500 p.m. 

5. Conveyance allowance Rs. 1500 p.m. (for private use) 

Package 2 

l. Company owned an accommodation of Fair Market Value 

Rs. 54000 p.a. 
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2. Education facility for one child in an institution owned by 

employer, value at Rs. 300 p.m. 

3. Free telephone facility at residence upto Rs. 1000 p.m. 

4. Medical reimbursement upto Rs. 18000 p.a. 

5. Motor car facility for private use with expenditure valued 

at Rs. 18000 p.a. 

The company also offers Mr. X services of watchman, sweeper 

' and gardener in both the above packages. The salary of each 

employee is Rs. 500 p.m. 

7824 

Which package should Mr. X choose to reduce his tax 

liability? 

A~o ~ X q;)-"Qo 17,000 ~ ~~~ ~"tf'{ ~ 

~ ~ CfiT mrcr ~ i- 1 ~ ~ ~ (~ ecirPl~ 

q)f ~ 'ltf t') QO 15,000 ~~ii ~O ~ ~ 

miR ~ ~ ~ ~ -e- ~ q;)- WAT i: 
~I 

1. HR.A QO 4,500 ~Rt"ii(? (~ ~ ~ °QO 6,000 

lllffi"116) 

2. - ~ QO 300 sriij" ~ (lfcfl ~ ~ ~) 

3. 2J\q}\~ ~ QO 1,000 ~ 

4. Rtfihffil ~ (io 1,500 ~ 

5. ~ (Conveyance) "lmT 'Qo 1,500 ~ (f.rvfi ~ 

~~) 

s P.T.O. 

~n 

1. q;i:q;ft ~ lITTf ~ '3TfCITT1 i ~ ~ ~ ~ QO 

54,000 ~ii 

2. ~rm ~ ~ ~ ~ ~ ~ mm 1l ~ 
~tf'I~ Fl£ilCRtl COT %-~ ~ "Qo 300 ~ % I 

3. '3lTCITTf "tJ'{ 2(1ftq}\~ ~ QO 1,000 lllffi'if(? 

4. Rtfihffif lllRt'ffef QO 18,000 ~ CICf> 

5. CfiR ct)-~ ~ ~ ~ ~ ~ ~ QO 

18,000 ~ q1!f i I 

~&TU ~o X q;)- :Jlc6)Gf{, ~ ~ 1tRift zyrr ~ 
~ lllffitfcta ~I ~ Cf>lf:ql{\ COT ~ "Qo 500 ~ i-1 

fTro x ~ Cf){aqdl q;lf m ~ ~ ctr.r-m ~ 
~? 15 
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Or(~) 

(a) Is there any way for the assessee to plan his tax liability 

with regard to salary income? 

m ~ ctt- 3lT'f ctt-~ m ~ ~ ~ Cf){aqa1 

cm m ~ ~ ~ Cf)){ 'd'OO i? 7 

(b) Differentiate between the two with respect to tax planning: 

• Education allowance and Education facility 

• Medical allowance and Medical facility. 

~ ~ ~ ~ ~ zyrr ~"RR~ 

(i) ~~~~~ 

(ii) Rtfihffil ciraIT ~ Rtfchffit ~I 

6 
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3. Mr A is the owner of three houses, all of which are self-

occupied. The particulars are given below: 

Particulars House I House II House Ill 

Municipal Value 5,00,000 4,50,000 3,80,000 

Fair rent 6,00,000 5,00,000 4,50,000 

Standard rent 5,00,000 4,30,000 3,50,000 

Municipal taxes 

(paid) 50,000 45,000 38,000 

Interest on money 

borrowed 1,60,000 90,000 

Date of completion 

of construction 15-12-2015 01-10-2010 20..05-2009 

Mr A borrowed Rs. 20,00,000 on 1st April 2013 @12% of 

interest for House l. The loan is still unpaid. Suggest Mr. A 

that which house be treated as self-<>ecupied for tax planning 

purposes. 

fffo A aFf ~ cf> ~ i, \it)' 'ijq" "{«<f: ~ cf> ~ 

~ I ~f.Jkf~: 

~~ TRI TRil TRID 

"f31(ql~Cf>I ~ 5,00,000 4,50,000 3,80,000 

~~ 6,00,000 5,00,000 4,50,000 

q11~~(1 ~ 5,00,000 4,30,000 3 ,50' 000 

131(ql~Cf>I Cf>\ 

(~ 71<rr) 50,000 45,000 38,000 
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1,60,000 90,000 

'qq.l ~ c6l' 

~ 15-12-2015 01-10-2010 20..05-2009 

tffo A~ I ~ 2013 q,1- I TR ci>" ~ 12% GQl\if ~ ~o 

20,00,000 ~I ~ ri° ~ ~ t I ~ ~ fcf> 

Cf>\-Fl<i\\111 ~ -6' ~-m TR~~ 'cf>~ 00 

15 

Or (31"-m) 

(a) "Jncome from house property is the most advantageous 

head for a salaried assessee." Explain the statement. 

Further, suggest from which bead, loss from house property 

can be set-off for tax planning pmposes. 

1:% ~ ~\£41ftffl <i>" fmr ~ ~ -« ~ m 
~ ~ t I'' W ~ q;r CfOR ~I~ Cf>\ 

\3fi4\\i11 ~ ci>" fmr ~ ~ fit" ~~ ~ -q 
~~"6'~q;r~~\jff~t1 7 

(b) Explain the tax planning relating to self-occupied property 

with regard to interest on borrowed capital under Section 

24(b) and Section SOEE. 
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mu SOEE ~ mu 24(b) ci>" ~ ~ ~ 1T<ft ~ 

~ ~= 31ft14}31 ea:qRfl -« Q)t '11141\11"1 CfiT m 
~I 8 

8 



4. (a) Mr X has been eammg profit of Rs. 50,00,000 in a year 

from his textile business. He is thinking of buying a new 

plant for Rs. 12,00,000. He can either use his own money 

or borrow from bank at 12% rate of interest. If he uses his 

own money, he will lose mterest@9% p.a. which he would 

have got by depositing in the bank. Suggest the following: 

(i) Whether he should use his own money or borrow 
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money from bank. State along with reason. 

(it) By which date he should purchase the plant and instal 

it? Will it make any difference if he purchases the asset 

in the previous year but does not instal it? 

(fu) What will be his taxable income if he purchases plant 

on 15th Sept. 2016, but: 

(1) lnstals on 20th Sept. 2016 

(2) Instals on 20th Jan 2017 

~o X ~~cf> cztClelll -a- Q"o 50,00,000 ~ qt!f l{ 

~~I~ Q°o 12,00,000 (l;T ~ ~ ~ ~ ~ 

\%i1~.:wR~-a-m~-a-12% ~~i:n-~~ 

~1 ~ ~ ~ ~ ~«\111(11 <om~ or 9% ~ q)f 

jihe l'1 fun i, VfT ~ ~ lf \1JlTT ~ -a-~ I 

~YR!ft9a lf\ ~ ~: 

(i) ~ ~ ~ ~ co1 ~~-a- \ml\~ I .:wR" 

~lf~~I 

9 P.T.O. 

(ii) fchtt' ~ (fCJj ~ c6)-~ Cfit? ~ ~ ~ ~ ~ 

qtf ~ ~ CR ~ ~ ~ -a-~ 3Rf\ °$rr? 

(iii)~~~ 15 fuctGI< 2016 (fCJi mTG ~or~ 

CO( ~ '3lT<:r ~ ~. ~ ~ ~ ~ ~: 

(1) 20 fuai:csi< 2016 <fil" 

(2) 20 ~ 2017 cfil 10 

(b) Explain the provisions of Section 54EC relating to 

exemption of capital gains through investment in specified 

securities. 

mu 54EC cf> *1f 1f fc)~1.sil"la Slfd~41 1f fc)~4)i1 

cnB lIT ~ ri cf> SllCIUH ~ I 5 

Or(~) 

(a) Mr.Xis earning taxable salary income of Rs. 8,00,000 and 

Mr. Y is earning taxable business income of Rs. 8,00,000. 

Both have income from other sources of Rs. 1,50,000 each. 

Both want to donate Rs. 2,00,000 each. Suggest whether 

they should donate to approved scientific research 

association or to Prime Min.ister's National Relief Fund. 

Further, what will be the effect on their taxable income if 

they also spend Rs. 20,000 each on medical treatment of 

brother suffering with disability who is dependent on 

them? 
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Pio x~~"«oo 8,00,000 ~~~Pio y~ 
C4Cl{11ll "« oo 8,00,000 ~ ~I zy:rr ~ '3Rl Wo "« 
'3mf oo 1,50,000 ~I zy:rr oo 2,00,000 ~ ~ ~ 

~I ~ ~ fcn GR a$11f.tco ~QR ~ !TT 

~ 1111 ;:;;ft ~ {1w:rn1 q;)lSf -q: ~ ~ 1 '3lN ~ '3ffi\ 

WIT ~ \Ff qr ~ 'l1ft ~ ~ ~ ~ oo 20,000 

~mt co@~? 10 

(b) Explain the advantages of presumptive taxation under 

Section 44 AD. 

!l4co~a co<l\;OIH ~ mu 44AD rfi ~ ~ 1 s 

·•. 5. (a) Mr. Ajay purchased shares of a private company on 15th 
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October 2011 for Rs. 8,00,000. He sold these shares to 

Mr. Gaurav on 20th July 2016 for Rs. 40,00,000. He paid 

commission of Rs. 20,000 to the broker for selling the 

shares. He does not have any house. He wants to purchase 

a house for Rs. 20,00,000. Does he need to invest more so 

that capital gains is fully exempt? If yes, then where and 

within how much time? 

fTro ~ ~ is ~ 2011 cor lfcO AA ~ TI- oo 
8,00,000 cfi' ~~I ~ fiio 1ffiq- coT 20 ~ 2016 

coT ~ ~ coT oo 40,00,000 -q: ~ ~ I ~ Jf~IT ~ 
~ qr GR oo 20,000 ~I ~ qra '31'RT ~ ~ 
~I CTQ oo 20,00,000 cnT ~ ~ ~ <ftVRT q.:rr WT%- I 

11 P.T.O. 7824 

(b) Is any exemption available under lncome Tax. Act from 

short term capital gams? Explain. 

~ ~~f.tqq ff; '3r4R ~~ ~ GrfNff ~ 
~~~~i-? 5 

Or(~) 

Explain the following: 

f.ty~f{ga cor ~ ~: 
(a) Deduction under Section 80C 

t:fm 80C rfi ~ ~ 
(b) Deduction under Section 80E. 

t:fm 80E ~ '3r4R colJfaqj I 

12 

10 

5 
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